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Listening Reading Use of English 

Item Answer Item Answer Item Answer 

1 B 1 C 1 C 

2 C 2 A 2 A 

3 B 3 D 3 D 

4 B 4 B 4 C 

5 A 5 A 5 D 

6 B 6 D 6 C 

7 accountant 7 C 7 B 

8 astronomer 8 D 8 A 

9 conflict(s) 9 B 9 C 

10 adaptability 10 D 10 B 

11 electric fence(s) 11 A 11 having flu Lucy managed to pass 

12 corridor(s) 12 C 12 agreement had been reached 

about/on 

13 maps 13 B 13 order to avoid leaving/an attempt to 

avoid leaving 

14 captivity 14 D 14 far too expensive for Colin to 

15 C 15 A 15 brother’s account of 

16 B 16 B 16 little/not much likelihood of seeing 

OR (that) we will see 

17 A 17 D 17 have been imposed as a 

18 D 18 C 18 for your help/the help you gave me 

19 B 19 D 19 was caused by (the) flooding/a/the 

flood/floods 

20 C 20 A 20 does not matter (at) what 

 


